PROJECT: JEFFERSON STREET SANITARY SEWER AND WATER SYSTEM IMPROVEMENTS

OWNER: CITY OF PORT CLINTON CASH SERVICES LLC

Project #: 170570

BUCKEYE EXCAVATING & CONSTRUCTION, INC.

UNDERGROUND UTILITIES, INC.

M CAMPBELL **CONTRACTING**

DID TABLII ATION

	BID TABULATION											
Item No.	Spec. No.	Item	Est. Qtys.	Unit of Measure	Unit Cost Total	Item Cost						
		SANITARY										
1	202	PAVEMENT REMOVED, AS PER PLAN	569	SY	\$10.50	\$5,974.50	\$5.00	\$2,845.00	\$1.00	\$569.00	\$9.50	\$5,405.50
2	608	4" CONCRETE WALK	410	SF	\$6.33	\$2,595.30	\$8.00	\$3,280.00	\$12.00	\$4,920.00	\$9.00	\$3,690.00
3	611	8" CONDUIT, TYPE B, SANITARY, (707.45)	473	FT	\$70.00	\$33,110.00	\$100.00	\$47,300.00	\$170.00	\$80,410.00	\$127.50	\$60,307.50
4	611	15" CONDUIT, TYPE B, SANITARY, (707.45)	72	FT	\$81.00	\$5,832.00	\$119.00	\$8,568.00	\$175.00	\$12,600.00	\$217.50	\$15,660.00
5	611	18" CONDUIT, TYPE B, SANITARY, (707.48)	400	FT	\$98.00	\$39,200.00	\$120.00	\$48,000.00	\$150.00	\$60,000.00	\$200.00	\$80,000.00
6	611	6" SANITARY SERVICE LATERAL (707.45)	709	FT	\$40.00	\$28,360.00	\$57.00	\$40,413.00	\$92.00	\$65,228.00	\$93.00	\$65,937.00
7	611	6" SANITARY SERVICE LATERAL CONNECTIONS AND CLEANOUT	12	EA	\$525.00	\$6,300.00	\$2,100.00	\$25,200.00	\$1,000.00	\$12,000.00	\$933.00	\$11,196.00
8	611	MANHOLE NO. 3, SANITARY (ASTM C443 JOINTS)	2	EA	\$4,734.50	\$9,469.00	\$5,070.00	\$10,140.00	\$5,000.00	\$10,000.00	\$4,877.00	\$9,754.00
9	611	MANHOLE NO. 3, SANITARY (ASTM C443 JOINTS) W/TWO (2) DROP CONNECTIONS	1	EA	\$5,657.50	\$5,657.50	\$8,900.00	\$8,900.00	\$8,000.00	\$8,000.00	\$8,100.00	\$8,100.00
10	611	CONNECTION TO EXISTING MANHOLE	2	EA	\$1,500.00	\$3,000.00	\$875.00	\$1,750.00	\$400.00	\$800.00	\$1,375.00	\$2,750.00
11	611	6" CONDUIT, TYPE B, SANITARY, MISC. DRAINAGE REPAIRS*	225	FT	\$1.00	\$225.00	\$10.00	\$2,250.00	\$1.00	\$225.00	\$8.50	\$1,912.50
12	611	8" CONDUIT, TYPE B, SANITARY, MISC. DRAINAGE REPAIRS*	150	FT	\$1.00	\$150.00	\$13.00	\$1,950.00	\$1.00	\$150.00	\$11.00	\$1,650.00
13	611	12" CONDUIT, TYPE B, SANITARY, MISC. DRAINAGE REPAIRS*	75	FT	\$1.00	\$75.00	\$25.00	\$1,875.00	\$1.00	\$75.00	\$18.00	\$1,350.00
		SUBTOTAL - SANITARY			\$139	,948.30	\$202	471.00	\$254,977.00		\$267	,712.50
		WATER WORKS										
14	202	PAVEMENT REMOVED, AS PER PLAN	1,025	SY	\$10.50	\$10,762.50	\$5.00	\$5,125.00	\$1.00	\$1,025.00	\$10.00	\$10,250.00
15	608	4" CONCRETE WALK	470	SF	\$6.33	\$2,975.10	\$8.00	\$3,760.00	\$12.00	\$5,640.00	\$8.00	\$3,760.00
16	608	CURB RAMP	300	SF	\$11.67	\$3,501.00	\$13.00	\$3,900.00	\$12.00	\$3,600.00	\$12.50	\$3,750.00

_	
consultants	engineers architects planners

PROJECT: JEFFERSON STREET SANITARY SEWER AND WATER SYSTEM IMPROVEMENTS

OWNER: CITY OF PORT CLINTON CASH SERVICES LLC

ASH SERVICES LLC EXCAVAT CONSTRUCT

BUCKEYE
EXCAVATING &
ONSTRUCTION, INC.

UNDERGROUND M CAMPBELL UTILITIES, INC. CONTRACTING

	cons	e on sultants architects architects planners BID TABULATION		Project #: 170570		, 		CONSTRUCTION, INC.		UTILITIES, INC.		RACTING
Item No.	Spec. No.	Item	Est. Qtys.	Unit of Measure	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost
17	608	BRICK PAVERS WITH CONCRETE BASE	50	SF	\$500.00	\$25,000.00	\$25.00	\$1,250.00	\$40.00	\$2,000.00	\$58.00	\$2,900.00
18	609	CURB, TYPE 2	100	FT	\$35.80	\$3,580.00	\$37.00	\$3,700.00	\$25.00	\$2,500.00	\$34.00	\$3,400.00
19	638	8" WATER MAIN, (C 909 DR 18), AS PER PLAN	311	FT	\$56.00	\$17,416.00	\$50.00	\$15,550.00	\$50.00	\$15,550.00	\$9.50	\$2,954.50
20	638	12" WATER MAIN, (C 909 DR 18), AS PER PLAN	1,036	FT	\$71.00	\$73,556.00	\$77.00	\$79,772.00	\$70.00	\$72,520.00	\$96.00	\$99,456.00
21	638	16" DI WATER MAIN, PRESS CI 300 (748.01), AS PER PLAN	145	FT	\$98.00	\$14,210.00	\$116.50	\$16,892.50	\$80.00	\$11,600.00	\$41.00	\$5,945.00
22	SPL	18" STEEL CASING, BORED AND JACKED	90	FT	\$345.00	\$31,050.00	\$226.00	\$20,340.00	\$350.00	\$31,500.00	\$209.00	\$18,810.00
23	630	1" WATER SERVICE BRANCH	630	FT	\$20.00	\$12,600.00	\$17.50	\$11,025.00	\$40.00	\$25,200.00	\$34.50	\$21,735.00
24	638	1" SERVICE TAPPING SADDLE WITH TAP, CORP STOP, CURB VALVE AND BOX	12	EA	\$319.58	\$3,834.96	\$940.00	\$11,280.00	\$300.00	\$3,600.00	\$400.00	\$4,800.00
25	638	1" WATER SERVICE METER SETTING IN PIT	12	EA	\$174.64	\$2,095.68	\$660.00	\$7,920.00	\$400.00	\$4,800.00	\$810.00	\$9,720.00
26	638	2" WATER SERVICE BRANCH	170	FT	\$30.00	\$5,100.00	\$17.50	\$2,975.00	\$33.00	\$5,610.00	\$51.00	\$8,670.00
27	638	2" SERVICE TAPPING SADDLE WITH TAP, CORP STOP, CURB VALVE AND BOX	4	EA	\$837.52	\$3,350.08	\$1,575.00	\$6,300.00	\$700.00	\$2,800.00	\$925.00	\$3,700.00
28	638	2" WATER SERVICE METER SETTING IN PIT	4	EA	\$2,748.04	\$10,992.16	\$3,400.00	\$13,600.00	\$2,000.00	\$8,000.00	\$3,000.00	\$12,000.00
29	638	POLYETHYLENE ENCASEMENT	320	FT	\$3.00	\$960.00	\$1.50	\$480.00	\$1.00	\$320.00	\$1.00	\$320.00
30	638	WATERLINE CONNECTION NO. 1, AS PER PLAN	1	EA	\$5,000.00	\$5,000.00	\$5,450.00	\$5,450.00	\$7,000.00	\$7,000.00	\$14,110.00	\$14,110.00
31	638	WATERLINE CONNECTION NO. 2, AS PER PLAN	1	EA	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$24,500.00	\$24,500.00
32	638	WATERLINE CONNECTION NO. 3, AS PER PLAN	1	EA	\$5,000.00	\$5,000.00	\$1,965.00	\$1,965.00	\$3,000.00	\$3,000.00	\$3,750.00	\$3,750.00

C	PROJECT: JEFFERSON STREET SANITARY SEWER AND WATER SYSTEM IMPROVEMENTS OWNER: CITY OF PORT CLINTON Project #: 170570 BID TABULATION		CASH SERVICES LLC		BUCKEYE EXCAVATING & CONSTRUCTION, INC.		UNDERGROUND UTILITIES, INC.		M CAMPBELL CONTRACTING			
Item No.	Spec. No.	ltem	Est. Qtys.	Unit of Measure		Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost
33	638	WATERLINE CONNECTION NO. 4, AS PER PLAN	1	EA	\$5,000.00	\$5,000.00	\$1,965.00	\$1,965.00	\$3,000.00	\$3,000.00	\$4,200.00	\$4,200.00
34	638	WATERLINE CONNECTION NO. 5, AS PER PLAN	1	EA	\$5,000.00	\$5,000.00	\$8,100.00	\$8,100.00	\$9,000.00	\$9,000.00	\$22,240.00	\$22,240.00
35	638	WATERLINE CONNECTION NO. 6, AS PER PLAN	1	EA	\$5,000.00	\$5,000.00	\$7,300.00	\$7,300.00	\$10,000.00	\$10,000.00	\$23,000.00	\$23,000.00
36	638	WATERLINE CONNECTION NO. 7, AS PER PLAN	1	EA	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$12,500.00	\$12,500.00
37	638	8" GATE VALVE AND VALVE BOX	6	EA	\$1,650.00	\$9,900.00	\$1,300.00	\$7,800.00	\$1,200.00	\$7,200.00	\$1,265.00	\$7,590.00
38	638	12" GATE VALVE AND VALVE BOX	5	EA	\$2,150.00	\$10,750.00	\$2,250.00	\$11,250.00	\$1,900.00	\$9,500.00	\$2,305.00	\$11,525.00
39	638	16" GATE VALVE AND VALVE BOX	3	EA	\$7,500.00	\$22,500.00	\$6,400.00	\$19,200.00	\$3,000.00	\$9,000.00	\$6,455.00	\$19,365.00
40	638	FIRE HYDRANT ASSEMBLY, TYPE A	2	EA	\$5,000.00	\$10,000.00	\$3,600.00	\$7,200.00	\$4,000.00	\$8,000.00	\$5,100.00	\$10,200.00
41	638	FIRE HYDRANT REMOVED	1	EA	\$500.00	\$500.00	\$525.00	\$525.00	\$100.00	\$100.00	\$800.00	\$800.00
42	638	8" LINE STOP, AS PER PLAN	2	EA	\$7,600.00	\$15,200.00	\$7,000.00	\$14,000.00	\$7,000.00	\$14,000.00	\$6,800.00	\$13,600.00
43	638	12" LINE STOP, AS PER PLAN	2	EA	\$9,000.00	\$18,000.00	\$9,600.00	\$19,200.00	\$10,000.00	\$20,000.00	\$9,000.00	\$18,000.00
44	638	16" LINE STOP, AS PER PLAN	1	EA	\$40,000.00	\$40,000.00	\$13,200.00	\$13,200.00	\$13,000.00	\$13,000.00	\$37,600.00	\$37,600.00
45	638	12" INSERTION VALVE, AS PER PLAN	1	EA	\$11,750.00	\$11,750.00	\$19,000.00	\$19,000.00	\$10,000.00	\$10,000.00	\$11,900.00	\$11,900.00
46	SPL	TRACER TAPE AND TRACER WIRE	1,507	FT	\$1.50	\$2,260.50	\$0.50	\$753.50	\$0.25	\$376.75	\$1.00	\$1,507.00
47	SPL	ABANDON AND/OR REMOVE EXISTING WATER MAIN	1	LS	\$7,500.00	\$7,500.00	\$4,000.00	\$4,000.00	\$500.00	\$500.00	\$3,500.00	\$3,500.00
						343.98	\$352	,778.00	\$330,941.75		\$452,057.50	

	_	
J	consultants	engineers architects planners

PROJECT: JEFFERSON STREET SANITARY SEWER AND WATER SYSTEM IMPROVEMENTS

OWNER: CITY OF PORT CLINTON CASH SERVICES LLC

Project #: 170570

BUCKEYE EXCAVATING & CONSTRUCTION, INC.

UNDERGROUND M CAMPBELL CONTRACTING UTILITIES, INC.

В	ID	TΑ	ιBU	LA1	ΓΙΟN

									<u> </u>			
Item No.	Spec. No.	Item	Est. Qtys.	Unit of Measure	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost
110.	110.		Qtys.	Micasarc	Total		Total		Total		Total	
		INCIDENTALS										
48	201	CLEARING AND GRUBBING	1	LS	\$5,000.00	\$5,000.00	\$800.00	\$800.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
49	253	PAVEMENT REPAIR, AS PER PLAN (3" - 441 ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2. (448) PG64-22)		SY	\$18.40	\$30,691.20	\$23.50	\$39,198.00	\$30.00	\$50,040.00	\$19.50	\$32,526.00
50	253	PAVEMENT REPAIR, AS PER PLAN (PERRY STREET)	33	SY	\$134.56	\$4,440.48	\$84.00	\$2,772.00	\$86.00	\$2,838.00	\$93.00	\$3,069.00
51	SPL	PRECONSTRUCTION VIDEO	1	LS	\$1,250.00	\$1,250.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$600.00	\$600.00
52	614	MAINTAINING TRAFFIC	1	LS	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$500.00	\$500.00	\$7,500.00	\$7,500.00
53	623	CONSTRUCTION LAYOUT STAKES	1	LS	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00
54	624	MOBILIZATION	1	LS	\$28,000.00	\$28,000.00	\$5,000.00	\$5,000.00	\$35,000.00	\$35,000.00	\$41,000.00	\$41,000.00
55	832	EROSION CONTROL	1	LS	\$5,000.00	\$5,000.00	\$800.00	\$800.00	\$500.00	\$500.00	\$1,800.00	\$1,800.00
		SUBTOTAL - INCIDENTALS			\$86,881.68		\$59,	570.00	\$92,	378.00	\$90,	995.00
		TOTAL BID PROPOSAL			\$631,173.96		\$631,173.96 \$614,819.00		\$678,296.75		\$810,765.00	